

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Bid #GEN2128489B1 - Interpretation and Translation Services

Creation Date **May 31, 2024**
Start Date **Jun 4, 2024 11:02:37 AM EDT**

End Date **Jul 5, 2024 2:00:00 PM EDT**
Awarded Date **Not Yet Awarded**

Complete Contract Consulting		\$340,744.00 (36/36 items)		
Bid Contact Julia Akpabio completecontractconsulting@gmail.com Ph 561-559-2645		Address 260 Peachtree Street, Suite 1600 Atlanta, GA 30303		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages - First Offer	\$1.42	12000 / per minute	\$17,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages - First Offer	\$1.42	3000 / per minute	\$4,260.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages - First Offer	\$1.42	1800 / per minute	\$2,556.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages - First Offer	\$1.42	1800 / per minute	\$2,556.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$26,412.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$1.42	90000 / per minute	\$127,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$1.42	8000 / per minute	\$11,360.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$1.42	6000 / per minute	\$8,520.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$1.42	6000 / per minute	\$8,520.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$0.00	10 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Not Offering		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Lot Total:\$156,200.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.32	30000 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.32	10000 / each	\$3,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.32	5000 / each	\$1,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.32	5000 / each	\$1,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation - First Offer	\$0.32	25000 / each	\$8,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$0.32	25000 / each	\$8,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$540.00	10 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Minimum two (2) pages.		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$540.00	10 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Minimum two (2) pages.		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$0.32	600 / per minute	\$192.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$540.00	10 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Minimum one (1) file.		
Lot Total:\$48,392.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages - First Offer	\$3.50	12000 / per minute	\$42,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: American Sign Language		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages-First Offer	\$3.50	3000 / per minute	\$10,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: American Sign Language		
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages-First Offer	\$3.50	1800 / per minute	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: American Sign Language		
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages-First Offer	\$3.50	1800 / per minute	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: American Sign Language		
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee - First Offer	\$0.00	10 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No offering		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3-First Offer	\$0.00	4800 / per minute	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No offering		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3-First Offer	\$0.00	2400 / per minute	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No offering		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3-First Offer	\$0.00	1200 / per minute	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No offering		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3-First Offer	\$0.00	1200 / per minute	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No offering		
Lot Total: \$65,100.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$1.20	14000 / per minute	\$16,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$1.20	3000 / per minute	\$3,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$1.20	1700 / per minute	\$2,040.00
Product Code:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$1.20	1700 / per minute	\$2,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$1.20	12000 / per minute	\$14,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$1.20	2400 / per minute	\$2,880.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$1.20	1200 / per minute	\$1,440.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$1.20	1200 / per minute	\$1,440.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$44,640.00				

Homeland language services		\$354,084.00 (36/36 items)		
Bid Contact Christian Lanazca solicitations@homelandls.com Ph 805-218-7995		Address 1000 TOWN CENTER DR. #300 OXNARD, CA 93036		
Bid Notes Homeland Language Services Can Provide All of the Languages You Require.				
Agency Notes:		Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages - First Offer	\$0.54	12000 / per minute	\$6,480.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages - First Offer	\$0.74	3000 / per minute	\$2,220.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes:		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages - First Offer	\$0.76	1800 / per minute	\$1,368.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages - First Offer	\$0.80	1800 / per minute	\$1,440.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes:		
Lot Total: \$11,508.00				

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$1.08	90000 / per minute	\$97,200.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes:		
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$1.12	8000 / per minute	\$8,960.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$1.20	6000 / per minute	\$7,200.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$1.31	6000 / per minute	\$7,860.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$10.00	10 / each	\$100.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Lot Total:\$121,320.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.08	30000 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.12	10000 / each	\$1,200.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.14	5000 / each	\$700.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.15	5000 / each	\$750.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation - First Offer	\$2.99	25000 / each	\$74,750.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$1.50	25000 / each	\$37,500.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$40.00	10 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$50.00	10 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$0.98	600 / per	\$588.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Offer	minute	
-03-09	Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$20.00	10 / each	\$200.00
Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.			
Lot Total: \$118,988.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages - First Offer	\$1.60	12000 / per minute	\$19,200.00
Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.			
GEN2128489B1- -04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages - First Offer	\$1.99	3000 / per minute	\$5,970.00
Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.			
GEN2128489B1- -04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages - First Offer	\$1.99	1800 / per minute	\$3,582.00
Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.			
GEN2128489B1- -04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages - First Offer	\$1.99	1800 / per minute	\$3,582.00
Product Code: Agency Notes:	Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Languages You Require.		
GEN2128489B1- -04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee - First Offer	\$20.00	10 / each	\$200.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 - First Offer	\$1.99	4800 / per minute	\$9,552.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 - First Offer	\$1.99	2400 / per minute	\$4,776.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3 - First Offer	\$1.99	1200 / per minute	\$2,388.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3 - First Offer	\$1.99	1200 / per minute	\$2,388.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
Lot Total: \$51,638.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$0.80	14000 / per minute	\$11,200.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$0.90	3000 / per minute	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$0.95	1700 / per minute	\$1,615.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$0.99	1700 / per minute	\$1,683.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$1.99	12000 / per minute	\$23,880.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$1.99	2400 / per minute	\$4,776.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$1.99	1200 / per minute	\$2,388.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
GEN2128489B1- -05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$1.99	1200 / per minute	\$2,388.00
Product Code: Agency Notes:		Supplier Product Code: 541930 Supplier Notes: Homeland Language Services Can Provide All of the Languages You Require.		
Lot Total: \$50,630.00				

Interpreters Unlimited, Inc. **\$411,729.00 (36/36 items)**

Bid Contact **Shamus Sayed**

Address **10650 Treena Street**

Desiree.Lewis@interpreters.com

Suite 308

Ph 800-726-9891

San Diego, CA 92131

Fax 800-726-9822

Qualifications **DBE MBE SB**

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-	Group 1 - Telephone Interpreting: Tier 1 Languages	\$0.89	12000 /	\$10,680.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-01-01	First Offer	per minute		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-02	Group 1 - Telephone Interpreting: Tier 2 Languages First Offer	\$0.89 3000 / per minute \$2,670.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-03	Group 1 - Telephone Interpreting: Tier 3 Languages First Offer	\$0.89 1800 / per minute \$1,602.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages First Offer	\$0.89 1800 / per minute \$1,602.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$16,554.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$1.25	90000 / per minute	\$112,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$1.60	8000 / per minute	\$12,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$1.60	6000 / per minute	\$9,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$1.60	6000 / per minute	\$9,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$95.00	10 / each	\$950.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$95/hr, per interpreter		
Lot Total: \$145,450.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.15	30000 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.19	10000 / each	\$1,900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.19	5000 / each	\$950.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.19	5000 / each	\$950.00
Product Code:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes:		
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation First Offer	\$0.19	25000 / each	\$4,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation First Offer	\$0.19	25000 / each	\$4,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$50.00	10 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$50.00	10 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$2.50	600 / per minute	\$1,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$2.50	10 / each	\$25.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$20,325.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages First Offer	\$3.50	12000 / per minute	\$42,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages First Offer	\$3.50	3000 / per minute	\$10,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages First Offer	\$3.50	1800 / per minute	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages First Offer	\$3.50	1800 / per minute	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee - First Offer	\$50.00	10 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 First Offer	\$3.50	4800 / per minute	\$16,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 First Offer	\$3.50	2400 / per minute	\$8,400.00
Product Code:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes:		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3 - First Offer	\$3.50	1200 / per minute	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3 - First Offer	\$3.50	1200 / per minute	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$99,200.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$3.50	14000 / per minute	\$49,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$3.50	3000 / per minute	\$10,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$3.50	1700 / per minute	\$5,950.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$3.50	1700 / per minute	\$5,950.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$3.50	12000 / per minute	\$42,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$3.50	2400 / per minute	\$8,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$3.50	1200 / per minute	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$3.50	1200 / per minute	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$130,200.00				

TransPerfect Translation International		\$663,592.50 (36/36 items)
Bid Contact	Mike Donnelly mdonnelly@transperfect.com Ph 202-347-2300	Address 700 6th Street NW 5th Floor Washington DC, DC 20001
Qualifications	WBE	
Bid Notes	<ul style="list-style-type: none"> - Transcription will be billed on a hourly basis and wordcount that will be translated - Scheduled ASL will be billed hourly -Please refer to proposal for more in depth proposal 	

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:

Supplier Notes:- Transcription will be billed on a hourly basis and wordcount that will be translated
- Scheduled ASL will be billed hourly
-Please refer to proposal for more in depth proposal

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages - First Offer	\$1.25	12000 / per minute	\$15,000.00

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a \$100 Account Setup Fee
\$100 monthly minimum

GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages - First Offer	\$1.25	3000 / per minute	\$3,750.00
--------------------	--	--------	-------------------	------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a \$100 Account Setup Fee
\$100 monthly minimum

GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages - First Offer	\$1.25	1800 / per minute	\$2,250.00
--------------------	--	--------	-------------------	------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a \$100 Account Setup Fee
\$100 monthly minimum

GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages - First Offer	\$1.25	1800 / per minute	\$2,250.00
--------------------	--	--------	-------------------	------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a \$100 Account Setup Fee
\$100 monthly minimum

Lot Total:\$23,250.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$3.17	90000 / per minute	\$285,300.00

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a 2 hour minimum
for all interpretation assignments

GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$3.50	8000 / per minute	\$28,000.00
--------------------	--	--------	-------------------	-------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a 2 hour minimum for all interpretation assignments
Please note that we will bill per 15 minute increment per RFP

GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$3.83	6000 / per minute	\$22,980.00
--------------------	--	--------	-------------------	-------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:There is a 2 hour minimum
for all interpretation assignments

GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$4.17	6000 / per minute	\$25,020.00
--------------------	--	--------	-------------------	-------------

Product Code:

Supplier Product Code:

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes: There is a 2 hour minimum for all interpretation assignments		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$100.00	10 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Any requests prior to 48 hours incur a 25% Fee Any Requests prior to 24 hour incurs a 50% Fee		
Lot Total: \$362,300.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.20	30000 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All Translation Projects have a \$100 minimum per language		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.22	10000 / each	\$2,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All Translation Projects have a \$100 minimum per language		
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.25	5000 / each	\$1,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All Translation Projects have a \$100 minimum per language		
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.28	5000 / each	\$1,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All Translation Projects have a \$100 minimum per language		
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation - First Offer	\$2.00	25000 / each	\$50,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$2.00	25000 / each	\$50,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$65.00	10 / each	\$650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$81.25	10 / each	\$812.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$2.00	600 / per minute	\$1,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-	Group 3 - Document Translation: Rush/Expedited Audio	\$3.00	10 / each	\$30.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-03-10		Recording - First Offer						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lot Total: \$113,542.50								
Item #	Line Item	Unit Price	Qty/Unit	Total Price				
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages First Offer	\$2.50	12000 / per minute	\$30,000.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All ASL assignments will require 2 interpreters All Assignments will require a 4 hour minimum						
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages First Offer	\$2.50	3000 / per minute	\$7,500.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All ASL assignments will require 2 interpreters All Assignments will require a 4 hour minimum						
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages First Offer	\$2.50	1800 / per minute	\$4,500.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All ASL assignments will require 2 interpreters All Assignments will require a 4 hour minimum						
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages First Offer	\$2.50	1800 / per minute	\$4,500.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All ASL assignments will require 2 interpreters All Assignments will require a 4 hour minimum						
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee - First Offer	\$300.00	10 / each	\$3,000.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: All ASL assignments will require 2 interpreters All Assignments will require a 4 hour minimum						
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 First Offer	\$3.00	4800 / per minute	\$14,400.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 First Offer	\$3.00	2400 / per minute	\$7,200.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3 First Offer	\$3.00	1200 / per minute	\$3,600.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3 First Offer	\$3.00	1200 / per minute	\$3,600.00				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lot Total: \$78,300.00								
Item #	Line Item	Unit Price	Qty/Unit	Total Price				
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$2.00	14000 / per minute	\$28,000.00				

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$2.00	3000 / per minute	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$2.50	1700 / per minute	\$4,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$3.50	1700 / per minute	\$5,950.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$2.50	12000 / per minute	\$30,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$2.50	2400 / per minute	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$2.50	1200 / per minute	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$2.50	1200 / per minute	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$86,200.00				

Craig Enterprises dba CommGap **\$1,303,314.70 (36/36 items)**

Bid Contact **Lelani Craig**
info@commgap.com
Ph 801-944-4049

Address **7069 S Highland Dr #201**
Cottonwood Heights, UT 84121

Qualifications **DBE MBE SB WBE**

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -01-01	Group 1 - Telephone Interpreting: Tier 1 Languages - First Offer	\$1.00	12000 / per minute	\$12,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-02	Group 1 - Telephone Interpreting: Tier 2 Languages - First Offer	\$1.10	3000 / per minute	\$3,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-03	Group 1 - Telephone Interpreting: Tier 3 Languages - First Offer	\$1.10	1800 / per minute	\$1,980.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages - First Offer	\$1.10	1800 / per minute	\$1,980.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	Lot Total: \$19,260.00		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$0.90	90000 / per minute	\$81,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$1.85	8000 / per minute	\$14,800.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$1.85	6000 / per minute	\$11,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$1.85	6000 / per minute	\$11,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$1.85	10 / each	\$18.50
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$118,018.50				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.14	30000 / each	\$4,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.22	10000 / each	\$2,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.22	5000 / each	\$1,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.22	5000 / each	\$1,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation First Offer	\$20.00	25000 / each	\$500,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation First Offer	\$20.00	25000 / each	\$500,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$10.00	10 / each	\$100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$0.22	10 / each	\$2.20
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$30.00	600 / per minute	\$18,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$30.00	10 / each	\$300.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$1,027,002.20				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages - First Offer	\$2.16	12000 / per minute	\$25,920.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages - First Offer	\$2.60	3000 / per minute	\$7,800.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages - First Offer	\$2.60	1800 / per minute	\$4,680.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages - First Offer	\$2.60	1800 / per minute	\$4,680.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee - First Offer	\$2.60	10 / each	\$26.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 - First Offer	\$2.60	4800 / per minute	\$12,480.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 - First Offer	\$2.60	2400 / per minute	\$6,240.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3 - First Offer	\$2.60	1200 / per minute	\$3,120.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3 - First Offer	\$2.60	1200 / per minute	\$3,120.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$68,066.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$1.70	14000 / per minute	\$23,800.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$1.70	3000 / per minute	\$5,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$1.70	1700 / per minute	\$2,890.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$1.70	1700 / per minute	\$2,890.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$2.16	12000 / per minute	\$25,920.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$2.16	2400 / per minute	\$5,184.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$2.16	1200 / per minute	\$2,592.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$2.16	1200 / per minute	\$2,592.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$70,968.00				

GLOBO Language Solutions, LLC		\$14,001,136.00 (36/36 items)		
Bid Contact Tal Roth rfp@helloglobo.com Ph 484-432-8277		Address 145 Greenwood Ave Wyncote, PA 19095		
Bid Notes If you have any questions or concerns about our proposed rates or would like a demonstration of our GLOBO HQ platform, please reach out to rfp@helloglobo or your Account Executive Troy Wygant (troy@helloglobo.com)				
Agency Notes:		Supplier Notes: If you have any questions or concerns about our proposed rates or would like a demonstration of our GLOBO HQ platform, please reach out to rfp@helloglobo or your Account Executive Troy Wygant (troy@helloglobo.com)		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages - First Offer	\$0.67	12000 / per minute	\$8,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls: - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		rate. - Rush requests (1 business day or less) incur a 25% surcharge		
GEN2128489B1- -01-02	Group 1 - Telephone Interpreting: Tier 2 Languages First Offer	\$0.72	3000 / per minute	\$2,160.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls: - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate.		
GEN2128489B1- -01-03	Group 1 - Telephone Interpreting: Tier 3 Languages First Offer	\$0.72	1800 / per minute	\$1,296.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls: - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages First Offer	\$0.72	1800 / per minute	\$1,296.00
-------------------------	---	--------	----------------------	------------

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls:

- All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute.
- Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate.

Lot Total: \$12,792.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$65.00	90000 / per minute	\$5,850,000.00

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes: Rates reflect GLOBO's hourly rate

- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request
- All on-site appointments require a 2-hour minimum
- 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above
- Rush requests (less than 1 business day) incur a \$20/hr surcharge
- After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge
- Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee
- Every hour past 8 hours will be charged at 1.5 times the hourly fee

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$80.00	8000 / per minute	\$640,000.00
Product Code: Agency Notes:	<p>Supplier Product Code:</p> <p>Supplier Notes:- Rates reflect GLOBO's hourly rate</p> <ul style="list-style-type: none"> - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee 			
GEN2128489B1- -02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$80.00	6000 / per minute	\$480,000.00
Product Code: Agency Notes:	<p>Supplier Product Code:</p> <p>Supplier Notes:- Rates reflect GLOBO's hourly rate</p> <ul style="list-style-type: none"> - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee 			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$80.00	6000 / per minute	\$480,000.00
Product Code: Agency Notes:	<p>Supplier Product Code: Supplier Notes:- Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee</p>			
GEN2128489B1- -02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$20.00	10 / each	\$200.00
Product Code: Agency Notes:	<p>Supplier Product Code: Supplier Notes:- Rush requests (less than 1 business day) incur a \$20/hr surcharge</p>			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Lot Total: \$7,450,200.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - Alt 1	\$0.15	30000 / each	\$4,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: GLOBO can instead charge .15 for Spanish and .24 for Haitian Creole			
	First Offer	\$0.20	30000 / each	\$6,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: - Rate reflects the per-word rate - A \$75 project minimum applies (if the total quoted per word rate is below \$75 than a flat \$75 fee will be assessed instead) - Any formatting or desktop publishing is billed at an hourly rate of \$75			
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - Alt 1	\$0.22	10000 / each	\$2,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: - Rate reflects the per-word rate - A \$75 project minimum applies (if the total quoted per word rate is below \$75 than a flat \$75 fee will be assessed instead) - Any formatting or desktop publishing is billed at an hourly rate of \$75			
	First Offer	\$0.26	10000 / each	\$2,600.00
Product Code:	Supplier Product Code:			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:

Supplier Notes: GLOBO's Tier 2 languages can be offered at a rate of .22/word. Our Tier 2 languages are as follows:

Albanian, Bosnian, Bulgarian, Croatian, Czech, Dutch, Flemish, French, German, Hungarian, Italian, Polish, Portuguese, Romanian, Russian, Serbian, Slovak, Slovenian, Spanish (Spain), Turkish, Ukrainian

GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.24	5000 / each	\$1,200.00
-------------------------	--	--------	-------------	------------

Product Code:
Agency Notes:

Supplier Product Code:

Supplier Notes: - Rate reflects the per-word rate

- A \$75 project minimum applies (if the total quoted per word rate is below \$75 than a flat \$75 fee will be assessed instead)
- Any formatting or desktop publishing is billed at an hourly rate of \$75

GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.26	5000 / each	\$1,300.00
-------------------------	--	--------	-------------	------------

Product Code:
Agency Notes:

Supplier Product Code:

Supplier Notes: - Rate reflects the per-word rate

- A \$75 project minimum applies (if the total quoted per word rate is below \$75 than a flat \$75 fee will be assessed instead)
- Any formatting or desktop publishing is billed at an hourly rate of \$75

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation First Offer	\$75.00	25000 / each	\$1,875,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This is the hourly rate for translating video into written text. In addition, the per word rate (based on the language tier) will apply.		
GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation First Offer	\$75.00	25000 / each	\$1,875,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This is the hourly rate for translating video into written text. In addition, the per word rate (based on the language tier) will apply.		
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$75.00	10 / each	\$750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This is the hourly rate for translating video into written text. In addition, the per word rate (based on the language tier) will apply (if translating is necessary).		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$25.00	10 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: GLOBO charges a 25% surcharge on rush translation requests.		
GEN2128489B1- -03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$75.00	600 / per minute	\$45,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Each project will be quoted based on the project specifications but the minimum rate will be \$75 per hour. Additional fees may be incurred if translation is required.		
GEN2128489B1- -03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$25.00	10 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: GLOBO charges a 25% surcharge on such projects		
Lot Total: \$3,805,450.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages First Offer	\$95.00	12000 / per minute	\$1,140,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: - Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		<ul style="list-style-type: none"> - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee 		
GEN2128489B1- -04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages First Offer	\$95.00	3000 / per minute	\$285,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: - Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee		
GEN2128489B1- -04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages First Offer	\$95.00	1800 / per minute	\$171,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: - Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee		
GEN2128489B1- -04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages First Offer	\$95.00	1800 / per minute	\$171,000.00
Product Code:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:

Supplier Notes:- Rates reflect GLOBO's hourly rate
- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request
- All on-site appointments require a 2-hour minimum
- 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above
- Rush requests (less than 1 business day) incur a \$20/hr surcharge
- After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge
- Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee
- Every hour past 8 hours will be charged at 1.5 times the hourly fee

GEN2128489B1- -04-05	Group 4 - Interpreting for the Deaf: Emergency In- Person Interpreting for the Deaf (NIC) Fee - First Offer	\$95.00	10 / each	\$950.00
-------------------------	--	---------	-----------	----------

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:- Rates reflect GLOBO's hourly rate
- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request
- All on-site appointments require a 2-hour minimum
- 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above
- Rush requests (less than 1 business day) incur a \$20/hr surcharge
- After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge
- Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee
- Every hour past 8 hours will be charged at 1.5 times the hourly fee

GEN2128489B1- -04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3- First Offer	\$95.00	4800 / per minute	\$456,000.00
-------------------------	--	---------	----------------------	--------------

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:- Rates reflect GLOBO's hourly rate
- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request
- All on-site appointments require a 2-hour minimum
- 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above
- Rush requests (less than 1 business day) incur a \$20/hr surcharge
- After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge
- Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee
- Every hour past 8 hours will be charged at 1.5 times the hourly fee

GEN2128489B1- -04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3- First Offer	\$95.00	2400 / per minute	\$228,000.00
-------------------------	--	---------	----------------------	--------------

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:- Rates reflect GLOBO's hourly rate
- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

			specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee
GEN2128489B1- -04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3- First Offer	\$95.00 1200 / per minute	\$114,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: - Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee		
GEN2128489B1- -04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3- First Offer	\$95.00 1200 / per minute	\$114,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: - Rates reflect GLOBO's hourly rate - Rates shown are for consecutive interpreting only; additional fees		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		<p>for simultaneous interpreting will be incurred based on each the specifics of each request</p> <ul style="list-style-type: none"> - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee <p>- Rates reflect GLOBO's hourly rate</p> <p>- Rates shown are for consecutive interpreting only; additional fees for simultaneous interpreting will be incurred based on each the specifics of each request</p> <ul style="list-style-type: none"> - All on-site appointments require a 2-hour minimum - 1 Hour of Travel time will be charged for all onsite appointments in addition to the 2 hour minimum referenced above - Rush requests (less than 1 business day) incur a \$20/hr surcharge - After hours and weekends (8am - 5pm local time) incur a \$20/hr surcharge - Assignments fulfilled on Federal Holidays will be charged at 1.5 times the hourly fee - Every hour past 8 hours will be charged at 1.5 times the hourly fee
		Lot Total: \$2,679,950.00
Item #	Line Item	Unit Price Qty/Unit Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$0.72 14000 / per minute \$10,080.00
Product Code: Agency Notes:	<p>Supplier Product Code:</p> <p>Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls:</p> <ul style="list-style-type: none"> - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. 	

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		<ul style="list-style-type: none"> - Rush requests (1 business day or less) incur a 25% surcharge 		
GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$0.76	3000 / per minute	\$2,280.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls: <ul style="list-style-type: none"> - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the clients normal telephone interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		
GEN2128489B1- -05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$0.76	1700 / per minute	\$1,292.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls: <ul style="list-style-type: none"> - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$0.76	1700 / per minute	\$1,292.00
Product Code: Agency Notes:		<p>Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled audio/video calls:</p> <ul style="list-style-type: none"> - All spoken language scheduled calls are subject to a 30 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		
GEN2128489B1- -05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$2.25	12000 / per minute	\$27,000.00
Product Code: Agency Notes:		<p>Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled ASL video calls:</p> <ul style="list-style-type: none"> - All ASL scheduled calls are subject to a 60 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		
GEN2128489B1- -05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$2.25	2400 / per minute	\$5,400.00
Product Code: Agency Notes:		<p>Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled ASL video calls:</p> <ul style="list-style-type: none"> - All ASL scheduled calls are subject to a 60 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$2.25	1200 / per minute	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled ASL video calls: <ul style="list-style-type: none"> - All ASL scheduled calls are subject to a 60 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		
GEN2128489B1- -05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$2.25	1200 / per minute	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Rates reflect the per minute fee for both on-demand and scheduled requests. Please note the following terms for scheduled ASL video calls: <ul style="list-style-type: none"> - All ASL scheduled calls are subject to a 60 minute minimum; thereafter, calls are billed by the minute. - Calls requiring international dial outs will be charged at one and a half times the client's normal audio/video interpreting per minute rate. - Rush requests (1 business day or less) incur a 25% surcharge 		
Lot Total: \$52,744.00				

Powerling		\$39,350.00 (10/36 items)		
Bid Contact Manon Debuire rfp@powerling.com Ph 857-400-8723		Address 2 Avenue Lafayette, 4th floor Boston, MA 02111		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-	Group 1 - Telephone Interpreting: Tier 2 Languages			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-01-02				
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-03	Group 1 - Telephone Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.14	30000 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.18	10000 / each	\$1,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.20	5000 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.22	5000 / each	\$1,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation - First Offer	\$0.18	25000 / each	\$4,500.00
Product Code:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes:		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation First Offer	\$0.18	25000 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$40.00	10 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: As no specific dimensions were provided, the per-document price is based on documents that would take 1 hour or less work.		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$45.00	10 / each	\$450.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: As no specific dimensions were provided, the per-occurrence price is based on documents that would take 1 hour or less work.		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$35.00	600 / per minute	\$21,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$40.00	10 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$39,350.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				

Terra Translations	\$67,920.00 (10/36 items)			
Bid Contact Noelia Ale noelia.ale@terratranslations.com Ph 414-850-7142	Address 4525 North Frederick Avenue Whitefish Bay, WI 53211			
Agency Notes:	Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.12	30000 / each	\$3,600.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.15	10000 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.17	5000 / each	\$850.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.17	5000 / each	\$850.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes:	

bid #GEN2128489B1 - Interpretation and	Broward County Board of County Commissioners			
GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation - First Offer	\$0.17	25000 / each	\$4,250.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$0.17	25000 / each	\$4,250.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$40.00	10 / each	\$400.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Assuming One unit equals One page			
GEN2128489B1- -03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$20.00	10 / each	\$200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Our rush rate is a 20% increase			
GEN2128489B1- -03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$85.00	600 / per minute	\$51,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$102.00	10 / each	\$1,020.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$67,920.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-05	Group 4 - Interpreting for the Deaf: Emergency In- Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		

Lot Total: \$0.00

Fox Translation Services	\$88,614.00 (17/36 items)
Bid Contact Matthew Sullivan	
proposals@foxtranslation.com	Address 1152 Mae Street, Suite #122
Ph 301-363-5080	Hummelstown, PA 17036
Fax 844-724-2092	
Bid Notes Attached in Group 1 Telephone is also our bid proposal, as I saw no place to upload. This proposal is for OPI/VRI	

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

and written. Thank you!				
Agency Notes:		Supplier Notes: Attached in Group 1 Telephone is also our bid proposal, as I saw no place to upload. This proposal is for OPI/VRI and written. Thank you!		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages First Offer	\$0.99	12000 / per minute	\$11,880.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 15 minute minimum		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages First Offer	\$0.99	3000 / per minute	\$2,970.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 15 minute minimum		
GEN2128489B1-	Group 1 - Telephone Interpreting: Tier 3 Languages	\$0.99	1800 / per	\$1,782.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-01-03	First Offer	minute		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages First Offer	\$0.99 1800 / per minute	\$1,782.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
Lot Total: \$18,414.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total:\$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.09	30000 / each	\$2,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Spanish		
	Alt 1	\$0.13	30000 / each	\$3,900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Haitian Creole		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - Alt 2	\$0.09	10000 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Arabic		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Alt 1	\$0.10	10000 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Russian, Vietnamese			
		First Offer	\$0.13	10000 / each	\$1,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Cantonese, Farsi, French, French Canadian, German, Italian, Korean, Mandarin, Portuguese, Portuguese Br., Somali, Swahili, Tagalog			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.10	5000 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Ukrainian		
	Alt 1	\$0.13	5000 / each	\$650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Bosnian, Bulgarian, Croatian, Czech, Danish, Dutch, Finnish, Flemish, Greek, Hungarian, Norwegian, Polish, Romanian, Serbian, Slovak, Slovenian, Swedish, Turkish		
GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.13	5000 / each	\$650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Albanian, Amharic, Armenian, Bengali, Burmese, Cambodian, Gujarati, Hebrew, Hindi, Kinyarwanda, Lingala, Malay, Nepali, Pashto, Persian, Punjabi, Sorani, Taiwanese, Thai, Urdu, Yugoslavian		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Alt 1	\$0.16 5000 / each	\$800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Afrikaans, Akan, Igbo, Japanese, Krio, Yoruba		
		Alt 2	\$0.23 5000 / each	\$1,150.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Chin Hakha		
GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$35.00	10 / each	\$350.00
Product Code: Agency Notes:		Supplier Product Code: Microsoft Suite Supplier Notes: For standard document formats including Microsoft Suite (Word, Excel, Publisher, PowerPoint), Rich Text, and Plain Text Formats, DOC, and DOCX, we offer services at \$35 per hour. For documents requiring Optical Character Recognition (OCR) compatibility, such as PDFs and files from Adobe Suite (Acrobat, Publisher, InDesign, Photoshop, Illustrator, etc.), as well as image files like JPEG, PNG, TIFF, GIF, and PSD, the rate is \$55 per hour. Documents that are not OCR compatible, including handwritten texts, poorly scanned copies, illegible documents, or those with security restrictions, are processed at \$70 per hour. We do not impose a minimum charge.		
		Alt 1	\$55.00 10 / each	\$550.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:	Supplier Product Code: Adobe Suite Supplier Notes: For standard document formats including Microsoft Suite (Word, Excel, Publisher, PowerPoint), Rich Text, and Plain Text Formats, DOC, and DOCX, we offer services at \$35 per hour. For documents requiring Optical Character Recognition (OCR) compatibility, such as PDFs and files from Adobe Suite (Acrobat, Publisher, InDesign, Photoshop, Illustrator, etc.), as well as image files like JPEG, PNG, TIFF, GIF, and PSD, the rate is \$55 per hour. Documents that are not OCR compatible, including handwritten texts, poorly scanned copies, illegible documents, or those with security restrictions, are processed at \$70 per hour. We do not impose a minimum charge.			
	Alt 2 \$70.00 10 / each \$700.00			
Product Code: Agency Notes:	Supplier Product Code: Documents not OCR compatible Supplier Notes: For standard document formats including Microsoft Suite (Word, Excel, Publisher, PowerPoint), Rich Text, and Plain Text Formats, DOC, and DOCX, we offer services at \$35 per hour. For documents requiring Optical Character Recognition (OCR) compatibility, such as PDFs and files from Adobe Suite (Acrobat, Publisher, InDesign, Photoshop, Illustrator, etc.), as well as image files like JPEG, PNG, TIFF, GIF, and PSD, the rate is \$55 per hour. Documents that are not OCR compatible, including handwritten texts, poorly scanned copies, illegible documents, or those with security restrictions, are processed at \$70 per hour. We do not impose a minimum charge.			
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting No Bids			
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording No Bids			
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording No Bids			
Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$5,100.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3		No Bids	
Agency Notes:		Supplier Product Code:	Supplier Notes:	
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$1.75	14000 / per minute	\$24,500.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes: 15 minute minimum	
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$1.75	3000 / per minute	\$5,250.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes: 15 minute minimum	
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$1.75	1700 / per minute	\$2,975.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes: 15 minute minimum	
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$1.75	1700 / per minute	\$2,975.00
Product Code: Agency Notes:		Supplier Product Code:	Supplier Notes: 15 minute minimum	

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$1.75	12000 / per minute	\$21,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$1.75	2400 / per minute	\$4,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$1.75	1200 / per minute	\$2,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$1.75	1200 / per minute	\$2,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 15 minute minimum			
Lot Total: \$65,100.00				

Certified Spanish Language, LLC		\$31,620.00 (4/36 items)		
Bid Contact Emmanuel Perez emmanuelp@certifiedspanishlanguage.com Ph 727-228-4559		Address 11843 Sutter Gate Loop, Suite A Hudson, FL 34667		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages First Offer	\$1.70	12000 / per minute	\$20,400.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages First Offer	\$1.70	3000 / per minute	\$5,100.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages First Offer	\$1.70	1800 / per minute	\$3,060.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages First Offer	\$1.70	1800 / per minute	\$3,060.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	Lot Total: \$31,620.00		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
Lot Total: \$0.00			

MGM Linguistic Solutions, LLC		\$16,850.00 (10/36 items)		
Bid Contact Maria Mercau translations@mgmlinguisticsolutions.com Ph 9 840 9357		Address 7017 Trouville Esplanade Miami Beach, FL 33141		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Supplier Notes:				
Lot Total:\$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total:\$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.11	30000 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-01 Supplier Notes: Price per source word		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.12	10000 / each	\$1,200.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-02 Supplier Notes: Price per source word		
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.12	5000 / each	\$600.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-03 Supplier Notes: Price per source word		
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.13	5000 / each	\$650.00
Product Code:		Supplier Product Code: GEN2128489B1-03-04		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Notes: Price per source word		
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation - First Offer	\$0.13	25000 / each	\$3,250.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-05 Supplier Notes: Price per source word		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$0.13	25000 / each	\$3,250.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-06 Supplier Notes: Price per source word		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$14.00	10 / each	\$140.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-07 Supplier Notes: Rate per page		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$17.00	10 / each	\$170.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-08 Supplier Notes: Rate per page		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$7.00	600 / per minute	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-09 Supplier Notes: Rate per minute		
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$9.00	10 / each	\$90.00
Product Code: Agency Notes:		Supplier Product Code: GEN2128489B1-03-10 Supplier Notes: Rate per minute		
Lot Total: \$16,850.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				

SignTalk, LLC **\$38,780.00 (9/36 items)**

Bid Contact **Suzanne Hersher**
bids@comprehensivenet.com
Ph 718-382-2026

Address **1663 East 17th Street**
Brooklyn, NY 11229

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Supplier Notes:				
Lot Total:\$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total:\$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages First Offer	\$1.42	12000 / per minute	\$17,040.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NIC applies to NIC, and its equivalent credentials from RID/NAD, such as CI, CT, and NADIII and CDI		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages First Offer	\$1.42	3000 / per minute	\$4,260.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages First Offer	\$1.42	1800 / per minute	\$2,556.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages First Offer	\$1.42	1800 / per minute	\$2,556.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-05	Group 4 - Interpreting for the Deaf: Emergency In- Person Interpreting for the Deaf (NIC) Fee - First Offer	\$200.00	10 / each	\$2,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 First Offer	\$1.08	4800 / per minute	\$5,184.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: also applies to EIPA 3.0 and above			
GEN2128489B1- -04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 First Offer	\$1.08	2400 / per minute	\$2,592.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3 First Offer	\$1.08	1200 / per minute	\$1,296.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3 First Offer	\$1.08	1200 / per minute	\$1,296.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$38,780.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language		No Bids
Agency Notes:		Supplier Product Code:	Supplier Notes:
Lot Total: \$0.00			

Datalyst LLC		\$42,330.00 (10/36 items)		
Bid Contact Amit Shah govbids@datalyst.com Ph 312-895-2404		Address 419 Lafayette St. Floor 2 New York, NY 10003		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-02-01				
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.135	30000 / each	\$4,050.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		
GEN2128489B1- -03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.149	10000 / each	\$1,490.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.149	5000 / each	\$745.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		
GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.159	5000 / each	\$795.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		
GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation - First Offer	\$0.20	25000 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		
GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$0.20	25000 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.		
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$150.00	10 / each	\$1,500.00

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: <p>We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.</p>		
GEN2128489B1- -03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$75.00	10 / each	\$750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: <p>We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.</p>		
GEN2128489B1- -03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$30.00	600 / per minute	\$18,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: <p>We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.</p>		
GEN2128489B1- -03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$500.00	10 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: <p>We are pleased to submit our proposal for Interpretation and Translation Services under Bid Number GEN2128489B1 for the Broward Addiction Recovery Center (BARC) and various Broward County departments and divisions.</p>		
Lot Total: \$42,330.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -04-05	Group 4 - Interpreting for the Deaf: Emergency In- Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:		Supplier Product Code:		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

		Supplier Notes:		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language			No Bids
Agency Notes:		Supplier Product Code:		
GEN2128489B1-05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language			No Bids
Agency Notes:		Supplier Product Code:		
Lot Total: \$0.00				

Language Training Center, Inc.

\$766,402.50 (22/36 items)

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Bid Contact	Makenzie George bidopp@ltcls.com Ph 888-456-1626	Address 5750 Castle Creek Pkwy N Dr Suite 150 Indianapolis, IN 46250		
Qualifications	MBE SB WBE			
Bid Notes	Proposal has been included as an attachment on line item offers. Vendor Security Questionnaire (VSQ) has been included as an attachment on line item offers.			
Agency Notes:		Supplier Notes: Proposal has been included as an attachment on line item offers. Vendor Security Questionnaire (VSQ) has been included as an attachment on line item offers.		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-01-01	Group 1 - Telephone Interpreting: Tier 1 Languages First Offer	\$0.95	12000 / per minute	\$11,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 4 of the attached proposal.		
GEN2128489B1-01-02	Group 1 - Telephone Interpreting: Tier 2 Languages First Offer	\$0.95	3000 / per minute	\$2,850.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 4 of the attached proposal.		
GEN2128489B1-01-03	Group 1 - Telephone Interpreting: Tier 3 Languages First Offer	\$0.95	1800 / per minute	\$1,710.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 4 of the attached proposal.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-01-04	Group 1 - Telephone Interpreting: Tier 4 Languages - First Offer	\$0.95	1800 / per minute	\$1,710.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 4 of the attached proposal.		
Lot Total: \$17,670.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-02-01	Group 2 - In-Person Interpreting: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.18	30000 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 9 of the attached proposal.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.26	10000 / each	\$2,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 9 of the attached proposal.		
GEN2128489B1- -03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.26	5000 / each	\$1,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 9 of the attached proposal.		
GEN2128489B1- -03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.28	5000 / each	\$1,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 9 of the attached proposal.		
GEN2128489B1- -03-05	Group 3 - Document Translation: Video Translation First Offer	\$14.00	25000 / each	\$350,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -03-06	Group 3 - Document Translation: Audio Translation First Offer	\$12.00	25000 / each	\$300,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		
GEN2128489B1- -03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$8.00	10 / each	\$80.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		
GEN2128489B1- -03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$10.00	10 / each	\$100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		
GEN2128489B1- -03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$25.00	600 / per minute	\$15,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		
GEN2128489B1- -03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$31.25	10 / each	\$312.50

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to pricing breakdown for each Language Tier on page 14 of the attached proposal.		
Lot Total: \$676,192.50				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency In-Person Interpreting for the Deaf (NIC) Fee			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$1.95	14000 / per minute	\$27,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$1.95	3000 / per minute	\$5,850.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		
GEN2128489B1- -05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$1.95	1700 / per minute	\$3,315.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		
GEN2128489B1- -05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$1.95	1700 / per minute	\$3,315.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		
GEN2128489B1- -05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language - First Offer	\$1.95	12000 / per minute	\$23,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		
GEN2128489B1- -05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language - First Offer	\$1.95	2400 / per minute	\$4,680.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.		

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -05-07	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - Sign Language - First Offer	\$1.95	1200 / per minute	\$2,340.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal.			
GEN2128489B1- -05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language - First Offer	\$1.95	1200 / per minute	\$2,340.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Please refer to page 5 of the attached proposal. Vendor Security Questionnaire (VSQ) has been included.			
Lot Total: \$72,540.00				

ShileiLLC

\$5,055,060.00 (28/36 items)

Bid Contact **Xiaoling Richards**
info@shileillc.com
Ph 305-653-4357

Address **660 nw 119 street**
miami, FL 33168

Qualifications **DBE MBE SB WBE**

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -01-01	Group 1 - Telephone Interpreting: Tier 1 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -01-02	Group 1 - Telephone Interpreting: Tier 2 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -01-03	Group 1 - Telephone Interpreting: Tier 3 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
GEN2128489B1- -01-04	Group 1 - Telephone Interpreting: Tier 4 Languages			No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:			
Lot Total: \$0.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -02-01	Group 2 - In-Person Interpreting: Tier 1 Languages - First Offer	\$1.60	90000 / per minute	\$144,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$95 per hour, 2 hour minimum			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-02-02	Group 2 - In-Person Interpreting: Tier 2 Languages - First Offer	\$2.00	8000 / per minute	\$16,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-02-03	Group 2 - In-Person Interpreting: Tier 3 Languages - First Offer	\$2.75	6000 / per minute	\$16,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$165 per hour, 2 hour minimum			
GEN2128489B1-02-04	Group 2 - In-Person Interpreting: Tier 4 Languages - First Offer	\$2.75	6000 / per minute	\$16,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$165 per hour, 2 hour minimum			
GEN2128489B1-02-05	Group 2 - In-Person Interpreting: Emergency In-Person Interpreting Fee - First Offer	\$50.00	10 / each	\$500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$50 per occurrence, in addition to base price			
Lot Total: \$193,500.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-03-01	Group 3 - Document Translation: Tier 1 Languages - First Offer	\$0.20	30000 / each	\$6,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$50 minimum per project			
GEN2128489B1-03-02	Group 3 - Document Translation: Tier 2 Languages - First Offer	\$0.30	10000 / each	\$3,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$60 minimum			
GEN2128489B1-03-03	Group 3 - Document Translation: Tier 3 Languages - First Offer	\$0.40	5000 / each	\$2,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$75 minimum			
GEN2128489B1-03-04	Group 3 - Document Translation: Tier 4 Languages - First Offer	\$0.50	5000 / each	\$2,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$85 minimum			
GEN2128489B1-03-05	Group 3 - Document Translation: Video Translation - First Offer	\$95.00	25000 / each	\$2,375,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$95 per hour, 1 hour minimum, after per word charge for translation			
GEN2128489B1-03-06	Group 3 - Document Translation: Audio Translation - First Offer	\$95.00	25000 / each	\$2,375,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$95 per hour, 1 hour minimum, after per word charge for translation			
GEN2128489B1-03-07	Group 3 - Document Translation: Reformatting of Translated Documents - First Offer	\$25.00	10 / each	\$250.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$25 per page			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1-03-08	Group 3 - Document Translation: Rush/Expedited Translation and Formatting - First Offer	\$30.00	10 / each	\$300.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$30 per page rush fee, in addition to base price			
GEN2128489B1-03-09	Group 3 - Document Translation: Audio Recording - First Offer	\$1.60	600 / per minute	\$960.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$95 per hour, 1 hour minimum, after per word charge for translation			
GEN2128489B1-03-10	Group 3 - Document Translation: Rush/Expedited Audio Recording - First Offer	\$120.00	10 / each	\$1,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 1 hour minimum, after per word charge for translation			
Lot Total: \$4,766,210.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1-04-01	Group 4 - Interpreting for the Deaf: Tier 1 Languages - First Offer	\$2.00	12000 / per minute	\$24,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-04-02	Group 4 - Interpreting for the Deaf: Tier 2 Languages - First Offer	\$2.00	3000 / per minute	\$6,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-04-03	Group 4 - Interpreting for the Deaf: Tier 3 Languages - First Offer	\$2.00	1800 / per minute	\$3,600.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-04-04	Group 4 - Interpreting for the Deaf: Tier 4 Languages - First Offer	\$2.00	1800 / per minute	\$3,600.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-04-05	Group 4 - Interpreting for the Deaf: Emergency Interpreting for the Deaf (NIC) Fee - First Offer	\$120.00	10 / each	\$1,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per occurrence, on top of base fee			
GEN2128489B1-04-06	Group 4 - Interpreting for the Deaf: Tier 1 - FRID QA3 - First Offer	\$2.00	4800 / per minute	\$9,600.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			
GEN2128489B1-04-07	Group 4 - Interpreting for the Deaf: Tier 2 - FRID QA3 - First Offer	\$2.00	2400 / per minute	\$4,800.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum			

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

GEN2128489B1- -04-08	Group 4 - Interpreting for the Deaf: Tier 3 - FRID QA3- First Offer	\$2.00	1200 / per minute	\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum		
GEN2128489B1- -04-09	Group 4 - Interpreting for the Deaf: Tier 4 - FRID QA3- First Offer	\$2.00	1200 / per minute	\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum		
Lot Total: \$57,600.00				
Item #	Line Item	Unit Price	Qty/Unit	Total Price
GEN2128489B1- -05-01	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - VRI Interpreting - First Offer	\$1.60	14000 / per minute	\$22,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$95 per hour, 2 hour minimum		
GEN2128489B1- -05-02	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - VRI Interpreting - First Offer	\$2.00	3000 / per minute	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$120 per hour, 2 hour minimum		
GEN2128489B1- -05-03	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 3 - VRI Interpreting - First Offer	\$2.75	1700 / per minute	\$4,675.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$165 per hour, 2 hour minimum		
GEN2128489B1- -05-04	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - VRI Interpreting - First Offer	\$2.75	1700 / per minute	\$4,675.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$165 per hour, 2 hour minimum		
GEN2128489B1- -05-05	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 1 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1- -05-06	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 2 - Sign Language			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
GEN2128489B1-	Group 5 - Video Conferencing/Remote Interpreting			No Bids

bid #GEN2128489B1 -
Interpretation and

Broward County Board of
County Commissioners

-05-07	(VRI): Tier 3 - Sign Language		
Agency Notes:		Supplier Product Code: Supplier Notes:	
GEN2128489B1- -05-08	Group 5 - Video Conferencing/Remote Interpreting (VRI): Tier 4 - Sign Language		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
Lot Total: \$37,750.00			